English - Xl MM 25

1.

Indian weddings are matchless in grandeur, glamour and luxury. They are matchless

in wastage, extravagance and display of money and wealth. Record your experience

of such marriages in your diary in 80 words. (5 marks)
Write a short story of about 80 words on the given visual input. (5 marks)
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3.

4,

(5 marks)
POR CANTU ¥ CASTELLANDS

Note: Each question from 1 to 10 has four options: a. b. c. d. Candidates are

required to select the suitable options out of them. (1 mark each)

1. When we reached there, they ... the game.
a) Finish b) had finished
c) will finish the game d) none of the above
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2. e my friend last week.

a) have meet c) met
b) meet d) none of the above
S | | S , we shall stay indoors.
a) will rain ¢) had rained
b) rains d) none of the above
4. lthas beenraining.......cccccooeevviiiiiiiiiiiee e, morning
a) From c) Since
b) For d) None of the above
5. We have been studying ..........ccccciiiiiiiiiiiiinnn. three hours.
a) For c) From
b) Since d) None of the above
6. He jumped ..................... the river to swim.
a)in b) into c)on d) at
7. Choose the passive of: | am reading a book.
a) A book is being read by me. b) A book is read by me.
c) A book will be read by me. d) None of the above.

8. Choose the passive of: Ms Camp teaches me English.
a) English is being taught to me by Ms Camp.
b) English was taught to me by Ms Camp
c) English is taught to me by Ms Camp.

d) None of the above

o

. Choose the correct indirect speech of: The Principal said to the students, * When
will you start studying?.’
a) The Principal asked the students that when they will start studying
b) The Principal asked the students that when would they start studying.
c) The Principal asked the students when they would start studying
d) None of the above.
10. Choose the correct indirect Speech of: The boy says, ‘I love to read books.’
a) The boy told that he loved to read books.
b) The boy told that he loves to read books.
c) The boy tells that he loves to read books.

d) None of the above.
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Economics — Xl MM 50

1.  The value of goods already includes the value of intermediate goods.
a) Consumer b) Producer c) Final d) All of these

2. The sum of production in all the three sectors of the economy is called;

a) GNP b) NDP c) NDA d) GDP
3. Inrural areas comprises landless labour and small farmers;
a) Unorganised  b) Organised c ) Both of these  d ) None of these.

4. Name the organisation which publish the report of ‘Human Development’.
a) World Bank b) RBI c) UNDP d) IMF
5. Kerala has low infant Mortality Rate because:
a) it has good climatic condition
b) it has adequate infrastructure
c) it has adequate provision of basic health and educational facilities
d) it has poor net attendance ratio
6. Number of children that die before the age of one year as a proportion of 1000 live
children born in that particular year is known as
a) Death rate b) Survival rate
c) Infant mortality rate d) Life death rate
7.  Name the founder of Gramin Bank:
a) Adam Smith b) M.K. Gandhi
c) Muhammad Yunus d) None of these
8. The sector which is owned and managed by Government is called
a) Organised b) Private c) Public d) Informal
9.  Which of the following is world’s largest automobile manufacturer.
a) Audi b) BMW c) Ford d) Cargil
10. Sheela works in an office from 9:30 am to 5:30 pm. She gets regular salary and other

social security benefits. She works in which sector:

a) Formal b) Informal c) Organised d) unorganised
11. Nowadays production has become in nature.
a) Simple b) Complex c) Both of the above d ) None of the above

12. Name the institution that fixes rules and regulations for international trade:
a) IMF (b) WTO (c) WHO (d) RBI
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13.

14.

15.

16.

17.

18.

Give formula of Body Mass Index?
a) Height/weight b) Weight/height
c) Weight/square of height d) Height/square of weight
trade has been the main channel connecting countries.
a) Domestic b) Foreign c) Import d) Export
Who takes the decisions regarding loan activities of Self-Help Groups (SHG’s)?
a) Chairman (b) members (c) bank (d) All of these

Find the odd one out:
Tourist guide, dhobi, tailor, potter

a) Tourist guide b) potter

c) dhobi d) All of the above
'Money in your pocket can buy all the things that you may need to live well’. Which
things can not be purchased with money.

a) freedom b) Equality

c) pollution free environment d) All of the above

Read the following case study and answer the questions given below:
Megha has taken a loan of Rs 5 lakhs from the bank to purchase
a house. The annual interest rate on the loan is 12 per cent and the loan is to be
repaid in 10 years in monthly instalments. Megha had to submit to the bank,
documents showing her employment records and salary before the bank agreed to
give her the loan. The bank retained as collateral the papers of the new house, which
will be returned to Megha only when she repays the entire loan with interest. Fill the

following details of Megha'’s housing loan.

Collateral

Rate of Interest

Mode of repayment

Duration of loan

Loan Amount in Rupees
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Documents required

19.

20.

21.

22,

23.

24,

25.

26.

27.

28.

29.

In agriculture sector unemployment is found in our country.
a) Disguised unemployment b) Hidden Unemployment
c) Both of the above d) None of the above

Which institution supervises the functioning of formal sources of credit?

a) SBI b) HDFC c) RBI d) all of the above
WTO is supposed to allow free trade for all,in practice it is seen that the
countries unfairly retained trade barriers.

a) Underdeveloped b) Less developed

c) Developed c) All of these
Formal sources of credit does not include

a) Banks b) cooperatives

c) employers d) none of these

and affordable credit is crucial for the country’s development.

a) Expensive b) Cheap c¢) Informal d) All of these
Demand deposits are also considered;

a) Credit b) loan c) cheque d) money
Modern forms of money include paper notes and .

a) coins b) ATM c) Credit cards d) All of these
The sum of production in all the three sectors of the economy and income received

from abroad is called;

a) GNP b) NDP c) NDA d) GDP
In rural areas people working in sector enjoy security of employment;
a) Unorganised b) organised
c) both of these d) none of these.
Under MGNREGA what kind of work is provided in rural areas?
a) Skilled b) Unskilled c) Good d) None of the above

If you got a job offer from far away place and they will offer you better salary. Except
salary ,what are other things you will seek;

a) Freedom b) equal treatment c) security d) all of these
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30.

31.

32.

33.

34.

35.

36.

37.

38.

39.

Name the organisation which publish the report of ‘Human Development’
a) World Bank b) RBI c) UNDP d) IMF
When a person works less than standard hours is called_
a) Employed b) Unemployed
c) Underemployed d) None of these
Under MGNREGA 2005, how much proportion of work is reserved for women;
a) 3/4 b) 1/4 c) 1/3 d) 3/6
Interest rate, collateral, documentation required, together are called;
a) Cheque b) mode of payment

c) terms of credit d) none of these

Removing barriers set by the Govt. is known as

a) Privatisation b) Liberalisation
c) Globalisation d) None of these
The most common route for investment by MNC’s in countries around the world is to
a) Set up new factories
b) Buy existing local companies
c) Form partnership with local companies.
d) All of these.
Identify which of the following is not a Good impact of globalisation
a) qualitative products
b) cheap
c) small producers are not able to compete with MNC’s
d) emergence of new areas of employment
SHG'’s provides platform to women to discuss which issues;
a) economic b) social c) emotional d) all of the above

After Globalisation demand for Chinese toys in the Indian Market has increased due

to:
a) attractive designs b) cheap
c) durable d) All of the above

On the basis of economic activities, economy is divided into how many groups?
a) One b) Two c) Three d) Four
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40.

41.

42.

43.

44,

45,

46.

47.

48.

49,

50.

What is general pattern observed for development by developed countries of the

world?
a) Primary, Secondary, tertiary b) Secondary, tertiary, Primary
c) tertiary, Primary, Secondary d) None of the above
Construction of dam is a goal.
a) mix b) Conflicting c) different d) All of the above
If BMI is less than 18.5 then the person would be considered
a) overweight b) long height
c¢) under nourished d) short height
What proportion of the country is overusing their groundwater reserves?
a) One — Fourth b) One-Tenth
c) One — Third d) half
Resources which will get exhausted after years of use is called ...............
a) Renewable resources b) Non — durable resources
(c) Non — renewable resources d) Competing resources

What was an essential feature of barter system?
a) store of value b) transfer of value
c) double coincidence of wants d) all of the above
Which of the following is not a step taken by the Govt. of India to attract FDI and
MNC’s?
a) Setting up SEZ’s b) Relaxations in labour laws
c) Providing raw material d) Both (a) and (b)
Fair Globalisation creates opportunities for
a) Few b) less c) large d) all

sector charges high rate of interest, no documentation, no

collateral etc. is required.
a) Informal b) formal c) organised d) Unorganised

refers to fixation of specified limit of goods which could be imported by

India before 1991.
a) tariffs b) Quotas c) inter-port d) all of the above
Indian MNC Sundram and Fastners produces which goods:

a) paints (b) automobiles c) nuts and bolts d) medicines
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Mathematics — XIi MM 25

1. Maximum value of sin 0 is:

a) O b) 1 c)2 d) infinity (1)
2. The distance between (a sin 6, — b cos 6) and (—a sin 8, b cos 8) is:

a) 2(@+b) b) Va? + b2

b) c¢) m d) 2\/azsin 20 + b?cos 20) (3)
3. Find X, if (x— 2) sin 230° + (x — 3 ) tan 260° — x cos 245° = = (3)

a)7 b) 2 c)8 d) 5
4. If Bis an acute angle tanB + cotd = 2, then tan'® 8 + cot'® B is:

a) 210 b) 1 c) 2 d) 25 (3)
5. The nth term of an A.P. 52,-1,-4,-7 ... is:

a) 2n+5 b)2n-5

b) ¢)8-3n d)3n-8 (3)
6. Ifthe equation (1 + m2) x2 + 2mex + (¢2 — a2) = 0 has equal roots, then ¢2

a) (1+m?2) b) a2(1 + m2)

b) c¢)a2 d) m2 3)

7. A fair coin is tossed three times. If event A denotes getting at least one head and event

B denotes getting at most two heads, then P(A) + P(B) is:

6 7 8 11
a) - b) 5 )y d) ¢ (3)
8.
If « and B are the zeroes of a polynomial f(x)ﬁ bxz —2x + 3p and a+ B =B athenpis
=2 > 1 =
(@)= (b)3 (c) 3 (d) =

3)
9. The least number that is divisible by all the numbers from 1 to 5 is:
a) 70 b) 60 c) 80 d) 90 (3)
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Rough Work
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Rough Work
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Rough Work
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